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Note : Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.
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Note : The maximum marks printed on the question paper
are applicable for the candidates registered with
the School of Open Learning for the B.A. (Hons.).
These marks will, however, be scaled down
proportionately in respect of the students of regular
colleges, at the time of posting of awards for
compilation of result.
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Attempt any three questions.
All questions carry equal marks.
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Discuss the changing urban landscape of Delhi
during the 13" and 14™ centuries.
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Discuss the ritualistic significance of imperial
Mughal visits to Delhi.
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The meaning of Qutb complex changed over
time. Elucidate.
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Discuss the cityscape of Shahjahanabad.
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What was the role of different bazaars in the
economic life of Shahjahanabad ?
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6. Explain the origin and spread of Urdu langnage
in 18" century Delhi.
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7. Write short notes on any twe of the following :
© (a) Siri (city of Siri)
(b) Jama Masjid (Masjid-i Jami)
(¢) Bemeir ’
(d) Canals and reserviors of medieval Delhi
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